

نام و نام خانوادگی: فرزاد زبانی پاسخنامه تشریحی تکلیف شماره ۵ کلاس: پنجم

$$f(n) = \left(\frac{1}{r}\right)^{n-r} - 1$$

$$y = \sqrt{x^T x} f(n+1)$$

$$f^{(n+1)} \cdot \left(\frac{1}{r}\right)^{n-1} - 1 \rightarrow y = \sqrt[n]{\underbrace{nx + \left(\frac{1}{r}\right)^{n+1}}_{1^2}} - 1 \rightarrow \begin{array}{c} 0 \\ - \quad | \quad + \quad | \quad - \\ 0 \quad 0 \end{array}$$

$$\rightarrow D_f = \begin{bmatrix} 0 & 1 \end{bmatrix} \checkmark$$

④

$$f(n) = \sqrt{n + |n+r|} \rightsquigarrow f(-n) = \sqrt{-n + |-n+r|}$$

④

$n \rightarrow f(n) = \sqrt{-2} \rightarrow \times$ مقبول - $D_f(-\infty, \infty)$

$$m \leq r \rightarrow \sqrt{-r_m + r} \rightarrow -r_m + r \rightarrow -r_m \geq -r \rightarrow r_m \leq r$$

$$y_c = \sqrt{\frac{n-1}{f(n)}} \rightarrow 1 - \frac{0}{\dots}$$

→

$\rightarrow D_f : (-\infty, \infty) \cup (r, r)$ ✓

$(1, \sqrt{2})$

$$y_1 = \frac{1}{9x^8 - 10x^7 - 8x^6 - 7x^5} = \frac{1}{9x^8 + 10x^7 + 10x^6 - 10x^5 - x^4 - 9x^3 - 10x^2 - 8x - 7}$$

⑦

$$\rightarrow y_1 = \frac{1}{r_{n^r}(r_{n^r+n+1}) - n(r_{n^r+n+1}) - r(r_{n^r+n+1})} = \frac{1}{(r_{n^r+n+1})(r_{n^r-n-r})}$$

۲

$$f(n) = 2^n + n$$

$$y = \sqrt{f(n) - f\left(\frac{1}{n}\right)}$$

$\rightarrow y, \sqrt{n^x + n - \frac{4x}{n^x} - \frac{1}{n}} \approx \sqrt{\frac{n^4 + nx^2 - 2nx^2 - 4x}{n^x}}$

$\rightarrow D_f: [r, \infty) \cup (-r, +\infty)$

(1, 2)

سریه بر دقتی مسخره :: $D = [-2, 0) \cup [2, 400)$

$$f(n^r + n) = 2n^r - 1$$

$$n^r + n < 2 \rightarrow n = 1 \rightarrow f(1), 1 \checkmark$$

$$n^r + n, 1. \rightarrow n < \frac{2}{2} \rightarrow \frac{f(1), 1}{f(1) + f(1), 1} \checkmark$$

$$f(n), n^r - 4n^r + 12n$$

$$\hookrightarrow f(n), (n-2)^r + 1$$

$$\hookrightarrow f(\sqrt{r} + 2), r + 1, 1 \checkmark$$

$$\rightarrow \frac{g(\sqrt{r} + 2)}{f(\sqrt{r} + 2)} = \frac{-r}{1} = (-r) \checkmark$$

$$g(n), n^r + 4n^r + 12n$$

$$\hookrightarrow g(n), (n+2)^r - 1$$

$$\hookrightarrow g(\sqrt{r} + 2), r + 1, -1 \checkmark$$

$$f(n), \sqrt{n + \epsilon \sqrt{n - \epsilon}} + \epsilon - \epsilon$$

$$\hookrightarrow f(n), \sqrt{(\sqrt{n - \epsilon} + \epsilon)^2}$$

$$f(n), |\sqrt{n - \epsilon} + \epsilon|, \sqrt{n - \epsilon} + \epsilon$$

$$g(n), \sqrt{n - \epsilon \sqrt{n - \epsilon}} + \epsilon - \epsilon$$

$$\hookrightarrow g(n), \sqrt{(\sqrt{n - \epsilon} - \epsilon)^2}$$

$$g(n), |\sqrt{n - \epsilon} - \epsilon| \xrightarrow{n \gg 1} \sqrt{n - \epsilon} - \epsilon$$

$$\rightarrow f(n) + g(n) = \sqrt{n - \epsilon} + \epsilon + \sqrt{n - \epsilon} - \epsilon = 2\sqrt{n - \epsilon} \rightarrow \frac{a+b}{c}, \frac{1}{-f}, -\frac{1}{f} \checkmark$$

$$f(n), \frac{n + r}{n^r - \epsilon n + r}$$

$$g(n), \{(1, 1), (1, 0), (1, 1), (1, 1)\}$$

$$(n-2)(n-1) \rightarrow$$

$$\frac{g}{f}(n) = \{(1, -\frac{1}{r}), (0, 1)\} \checkmark$$

$$f(n) = \{(1, 2), (3, -1), (4, 2), (-1, 4)\} \mid g(n) = \{(-2, 2), (1, -1), (2, 2), (-1, 0)\}$$

$$1) f(n) = \{(1, 2), (3, -1), (2, 2), (-1, 4)\} \checkmark$$

$$\rightarrow f(n) = \{(1, 2), (-1, 2), (\sqrt{2}, -1), (-\sqrt{2}, -1), (2, 2), (-2, 2)\} \checkmark$$

$$2.) 2g^r(n) + 1 = (-2, 19), (1, 2), (2, 9), (-1, 1) \checkmark$$

$$3) \frac{f}{g} \{(1, -4), (2, -1)\} \checkmark$$